

Math 135 : Induction

Announcements

- HW 1 due
- HW 2 out Monday, due 1 week later
- Worksheet today

Induction

A proof technique that is used to prove propositions of the form:
 $A_n, P(n)$

Idea:

- ① Show $P(1)$ true
- ② Show $A_{k+1}, P(k-1) \rightarrow P(k)$

Since $P(1)$ is true (by ①):

$$\begin{array}{l} P(1) \rightarrow P(2) \quad (\text{by } \textcircled{2}) \\ P(2) \rightarrow P(3) \quad (\text{by } \textcircled{2}) \\ P(3) \rightarrow P(4) \quad (\text{by } \textcircled{2}) \end{array}$$

Example: $A_n \geq 1$, $\sum_{i=1}^n i = \frac{n(n+1)}{2}$

$= 1+2+3+4+\dots+(n-1)+n$

Proof: by induction on n

① Show $P(1)$ is true

$$\frac{n(n+1)}{2} = \frac{1(1+1)}{2} = 1 \quad \sum_{i=1}^n i = \sum_{i=1}^1 i = 1$$

So $P(1)$ is true, since $1=1$

② A_{k+1} , $P(k-1) \rightarrow P(k)$: $P(k-1)$ is: $\sum_{i=1}^{k-1} i = \frac{(k-1)(k-1+1)}{2} = \frac{(k-1)(k)}{2}$

So $\sum_{i=1}^k i = \left(\sum_{i=1}^{k-1} i \right) + k = \frac{(k-1)(k)}{2} + k = \frac{(k-1)k + 2k}{2} = \frac{k(k+1)}{2}$

How to write 'inductive proofs'

3 required parts

Base Case $P(1)$

Inductive Hypothesis
Assume $P(k-1)$ is true

Inductive Step

Use $P(k-1)$ to show $P(k)$

Example: Show that the sum of the first n odd integers is n^2 .

$$1+3+\dots+(2n-1) = \sum_{i=1}^n (2i-1) = n^2$$

n #'s

proof by induction:

Base case: $\sum_{i=1}^1 (2i-1) = (2 \cdot 1 - 1) = 1$

$$n^2 = 1^2 = 1 \quad \text{So they are equal if } n=1$$

IH: Assume $\sum_{i=1}^k (2i-1) = (k-1)^2$

$$1 + 3 + 5 + \dots + (2(k-1)-1) + (2k-1)$$

$$\underline{\text{IS:}} \quad \sum_{i=1}^k (2i-1) = \sum_{i=1}^{k-1} (2i-1) + (2k-1)$$

apply I.H

$$= (k-1)^2 + (2k-1) = k^2 - 2k + 1 + 2k - 1$$
$$= k^2$$

\square